
SAP ABAP table IFMFGRCN_ITEM_BP {Structure for item level data from BCS reconciliation provid}

IFMFGRCN_ITEM_BP

AWTYP [CHAR (5)]

AWSYS [CHAR (10)]

CURRENCY [CUKY (5)]

MATCH_AWTYP [CHAR (5)]

MATCH_AWSYS [CHAR (10)]

COMP_CODE [CHAR (4)]

DOCTYPE [CHAR (4)]

OBJNR [CHAR (22)]

FM_AREA [CHAR (4)]

SUBVO [CHAR (4)]

GEBER [CHAR (10)]

VERSN [CHAR (3)]

VORGA [CHAR (4)]

TWAER [CUKY (5)]

FAREA [CHAR (16)]

FUNDS_CTR [CHAR (16)]

CMMT_ITEM [CHAR (24)]

FM01

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

 IFMFGRCN_ITEM_BP-FM_AREA = FM01-FIKRS 

0..N

0..N

FMCI

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

GJAHR [NUMC (4)]

FIPEX [CHAR (24)]

 IFMFGRCN_ITEM_BP-CMMT_ITEM = FMCI-GJAHR 

0..N

0..N

FMEDDOCTYPE

CLIENT [CLNT (3)]

DOCTYPE [CHAR (4)]

 IFMFGRCN_ITEM_BP-DOCTYPE = FMEDDOCTYPE-DOCTYPE 
0..N

0..N

FMFCTR

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

FICTR [CHAR (16)]

DATBIS [DATS (8)]

 IFMFGRCN_ITEM_BP-FUNDS_CTR = FMFCTR-FICTR 
0..N

0..N

FMFINCODE

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

FINCODE [CHAR (10)]

 IFMFGRCN_ITEM_BP-GEBER = FMFINCODE-FINCODE 
0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 IFMFGRCN_ITEM_BP-OBJNR = ONR00-OBJNR 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 IFMFGRCN_ITEM_BP-COMP_CODE = T001-BUKRS 
0..N

0..N

T022

ACTIVITY [CHAR (4)]
 IFMFGRCN_ITEM_BP-VORGA = T022-ACTIVITY 

0..N

0..N

TBDLS

LOGSYS [CHAR (10)]

 IFMFGRCN_ITEM_BP-AWSYS = TBDLS-LOGSYS 
0..N0..N

 IFMFGRCN_ITEM_BP-MATCH_AWSYS = TBDLS-LOGSYS 
0..N0..N

TBP3A

MANDT [CLNT (3)]

VERSN [CHAR (3)]

APPLIK [CHAR (1)]

WRTTP [CHAR (2)]

 IFMFGRCN_ITEM_BP-VERSN = TBP3A-VERSN 

0..N

0..N

TBP4A

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

SUBVO [CHAR (4)]

 IFMFGRCN_ITEM_BP-SUBVO = TBP4A-SUBVO 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 IFMFGRCN_ITEM_BP-CURRENCY = TCURC-WAERS 

0..N

0..N

 IFMFGRCN_ITEM_BP-TWAER = TCURC-WAERS 

0..N

0..N

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 IFMFGRCN_ITEM_BP-FAREA = TFKB-FKBER 

0..N

0..N

TTYP

AWTYP [CHAR (5)]

 IFMFGRCN_ITEM_BP-AWTYP = TTYP-AWTYP 

0..N

0..N

 IFMFGRCN_ITEM_BP-MATCH_AWTYP = TTYP-AWTYP 

0..N

0..N


